Math 11 Quadratics #2 — Review #2

SolUuTTONS

1. What is different about these two graphs?
a) Domain b) Range

‘c) Axis UFSﬂymmﬁ ; d) Stretch Factor

2. y=a(x-h’+k




3. y=a(x-hP+k




¥*%* Use the following equation for questions ( 5 -7 ): i (y-3)=(x+4)

o S0 I

1h moves the graph:
a) up."dow_n b) left/right ¢) and stretches it d) and reflects it in the x-axis

6. The “4” moves the graph:
a) up/down b) left/right ¥ ¢) and stretches it d) and reflects it in the x-axis

7. The“'n™: :
a) moves the graph up/down b) moves the graph sidewaysf.: ¢) stretches the graph Jd) flips the graph

8. The parabola shown in the diagram has its x-intercepts at (-3, 0) and (11, 0). Which one of the

following “could” be the vertex: A
_ SKETCH:
D D049 \L/
¢) (8,-2) d) (7,4) * HoA

Average of X-values g
-3+ = ﬁ_:@)'z
2 2




9. A ball is kicked and its graph is defined by - - ( y —20) = ( x —6)*. What is the maximum he1ght'?
How long does it take to reach the maximum helght’? _20_ 6 VQ r-\-ex Q

b) 5m 6s ¢)20m 5s d)6m 20s Cb Q-C)

10. Which of the followmg equations could be used to find the area, if you had 200 m of maxenal to
construct a fence around the following area? 2= 200m
a) y=(200-x)(x) b) v = (100 — 2x)(x) X ‘ ‘ letx=width

S y=200-20(0 ) ) ¥=(100-x)2x) -'10& %x& lzngi-h

*EXA rockct is launched and its path is defined by h = -4t” + 40t. Use this equation‘to answe%(( H - 13? )
'
—_— +
11. What is the maximum height of the rocket? h Ht N L‘Ot)
a) 40m b) 160 m ¢) 10m h=-4&E-1o0t

—j00= - HH=10t25)
h-100= -4 (£-5)*

b) 5 seconds ¢) 4 seconds d) 20 seconds - - L 't‘f)) oG
13. How high would the r— bc aﬁcr 3 scconds‘7 * \fer ‘e x (5 ) | OO)
a) 40m ¢) 156 m d) 100m 1

h=-4(HH0GE)  Tmeto ¥ax.
h=-4(4) +120 reach H:eiﬁh{'
h= =3G+120 ox.

= gBHm ?L|Sh+



14.1f y=3(x - 2}2 + 1 was placed in general form, it would be:

a) y=3¢-6x+3 () y=3x—12x+13 Yo) y=3x"-6x+13 d) y=3x-6x+3

N = (- 2% }

N =3 &-2)(x-2) +|
Y= (3x-6) (x-2)+]
e Ay Gx=ex+12 |
N = SX*-12X+13




15.-2(y+2)=(x-17 ( TF)
vertex_ (| ?-21.)
Direction SDownward
Stretch Factor ___ %)
Axis of Symmetry "X = 2L
Domain_ 3 X ! XER }
Range {Ej ‘ 3 5—'2;5 ER}

16.3(y-2)=2¥ => 3(\/"‘2): (x-0)*% CTFE)
Vertex (O;Q )
Direction “bhﬁﬁi’:d
Stretch Factor '}3
Axis of Symmetry "X = O
Domain {X l xXER %

Rangeéliltfz Q‘,HER}
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